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Choose one or both First Set
of the sets of sums Simplify the answers as much as possible
and work out all the
answers. 1. %3 = 10. 70~ 70 19. 3%3
On the diagram oppo-
sttg colour each area 2.7 %X% = 11. %X 2 = 20. %— 3 £
which contains one of 3.2 3 1 3
the answers. 3. Zx_é = 12. Z+§ = 21. §x2 =
What do you see?
Lol P - Tyl =
4. 5714 : 13. 1'10 22. §%3
o 3 _ 3y¢8 _
[] { 5. 373 = 14. 3x§ = 23. $X% =
1 — -1 1e1 -
‘ 6. X4 = 15, 193 = 24, £Xz =
3 e 1 e 1.1 _ 3 _
D 7. 177 < 16. 557 = 25 1X3 =
8. 878 17. 70770
S wid = R
4 9. §%3 ~ 18. 155 =

Second Set ‘
Simplify the answers as much as possible
P | 2.,.3.p,~ _ I PTY R
1. 3 X3 X106 = 10. £EX5+6 = 18, Ig%gxg = D
5o Fu 1 . R e J el 2 1_
2 g®g¥y & 19.273%X3 = 20 X813~ 0
{ o2 _ "5 3 - 2.1,1 _
3.3%3%6 = 11.7%X2 X5 = 21. 13%3%g = o
3,1 _ ] B8 1. 1wl _
4.3%4%2 = 18.373%7 = 22 15770%6 ~
1. 1 _ a1 gl _ AP A S
5.5770X3 =  14.§776%2 - 23.1373%5 ~ ¢
1 1 1, 1 1 w41 _ :
6.5%4%3 = 15. 27 3%X55 = 24.45%15%3 = ]
1,1 q AP PN 2.,3.0 _-
7.3%s%Bg = BTy tEe=  gmdgX3Ees
3 1 5 1 3 The answers of both
9w T [ T T sets of sums are the
8.7 2 3 17. 528" 72" 7 same, but not in the
1 1 _ 23 _ : same order.
9.gX3x4 = 18.3%g*4 =
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. Fractions -
‘Multiplication :




